B BRI R AR 4T e

112FAF 58

SEERAHRR B
HER| 28| sy ¥4
i HHRG HHHES0
6 | RS EES RIS 2 5/ DEF
P ZEHI 82
| fiE47y 120
g JEE JEEE 2{E60g
7 | % H S EEYES04 814510
P KR KE120
e It B850
EENEIIeS ZJRBR10
10— g |[PETISE EHRIE30 ISR 0B S0 B
T KGR 7KE0.50%
o ffE 5 &Ey FoRAEH 1SEEDY 120
= o B E SKAOFETEIOMLK 1S FORAL I AT 7 (= 13 SRR/ e
e SUNERBUH FENEESTHA0
- T[RRI FA%120g ~ HE4g
2= o |BOHIEEAE |36 ] RUBO0 IS H0 B i Vi
kR 7KE0.5(77
ST EIREE A RT HA 3048 10 RE S50
SBIFER B ST EIE I DR
13| ™ - FEBASR AR K0Sq - FEEASe - ATEEESe - NERLS « BEERES /D
e HTEEI20) ~ FEFFOHBERR S/ 3
oI %ﬁ@@ ’féﬁﬁm:@mg
|l = Wﬁff : Ffc/ Ve RE4
. KR = JKE1.247%

W

&
Y |ERER
(3 | Fd)
0.0 0.8
0.0 0.0
0.0 0.0
0.5 0.0
0.0 0.9
0.0 0.0
0.0 0.0
0.0 0.0
0.0 0.0
0.0 0.3
0.0 0.0
0.5 0.0
0.0 0.4
0.0 0.0
0.0 0.6
0.0 0.4
0.0 0.0
0.0 0.3
0.0 0.0
0.0 0.4
0.0 0.4
0.0 0.4
0.0 0.0
0.0 0.0

BEHAE | BE | BRER
B | KR | BVE (KR
0.9 166
0.2 12
0.0 105
0.0 60 [343
0.8 176
0.2 24
0.0 72
0 (272
1.0 164
0.0 42
0.5 163
0.0 30 (399
0.0 116
0
0.5 209
01325
0.0 91
0.0 59
0.5 130
0.0 30 1310
0.7 172
0.0 14
0.6 157
0.2 39 1382
0.6 123
0.0 14
0.0 72
01209




- T e 1209 - Hiide
e B 4 A1 K205 K80 AILA 1 SE 4/ D
Tk ZKER0.50%
T Rk PREGE LERSATE
s | = " fE4Y 120
- e B APSECS o i) HZ AR 3OVESE30 %A 1 ST D EF
B " RS FEEIAL VeI
9| = - FEERL ELTOVNTER) R 5250
K TKER0.5153
o TRA FRE40
» | m T (EEEE T 2084
- WoE R N OIS (40250 - ks ~ BRI « SEIESE0 < HETEI0 - ToRS BB EI0
i KE=E IKE1.2(5
21 E B[ B NAie b e = T ey
e wok & H SKE HO60ASR 15 2504 Bk VET
orn Pt Py 140
T (EET TAF1 20884
24 g EEATORE Dkt rossiseoreseinnivi
kR TKER0.5053
i FEEAE Sy 3048 A1 0FE 150
s | — FBHFAE FEBHT ~ 418~ FAT ~ s E/DET ~ B
- . NGRS H7 A 15R3045 N80 A4 15
o el i E140g
% | = [T FHE1208E4
- . HE A K208 [A 1 038 T-(57) SFAT 2
K TKER0.553

0.0 105
0.0 59
0.5 171
0.0 30 [365
0.0 84
0.0 60
0.5 165
309
0.5 123
0.0 14
1.0 183
0.0 30 1349
0.0 105
0.0 59
0.5 154
0 (318
0.0 72
0
0.5 149
01221
0.4 102
0.0 59
0.5 173
0.0 30 (364
0.7 172
0.0 14
0.5 178
363
0.7 102
0.0 59
0.5 125
0.0 30 [316




e REEVEAL R EEVEELLE 0.0 0.8 106
57 e fE4 120 0.5 0.0 60
e RS EHIR0FE 5044 15 Fai2 0.0 05 170
0 (336
ST KE=H JKE 12003 0.0 0.0 72
2 gy [T DE L7285 00 05| 140
EREES TIE0 LS D EF A 0.0 0.1 12 |224
YR ERRSEEAENEYhE > BRSO T
RE—HRERBEES - FEREM — 2-31% 4-65%
e FUBE BB (1)) FBE B (1)
2FRRESE 1 2
B ALEIE 0.5 0.5
T ARRNER 0.5 0.5
RO 0.5 0.5
KESH 1 1
JHH A B B A 0.5 0.5
= 265 335




